2017(H29) = 06 & 26 &

rng . 7t

L !

o

3

e
JB

LN

SHAHE 2010 (S0lAl0] 22) & 7 ERE BF seye PEEEERRE =osn

USFLICL EDH, 2014 (BO[MO] 24) W 4 FA=EH HjFE Y€oeye ENVERENR=
CRsto], & AL Melo| Hdetn &Lt
HEECE QA2 4 B LA A8 T o EAF 1 E, 740 AFE EAF 1 FEEF
E[Af2 &
oHH, 6 / 12-16 M|, & Q= (T 21 H)EA|, t0A|OF (Abx0Of 342 - A 5o,
QAT (20} 2F), ER (4ot 38 - B3 XF)E Zetel X9 ZAEo| Hshe i
&Lt
XY : 2017(5] 0| M[O] 29)H 06 & 01
=4 oo L
MET | oo | az TH o9 | o o oo | gy | oH
i R H= | 55T E° SE el EE
AR 87 41.6 13.2 17 36.4 7.9 104 40.8 12.4
e 7 68.1 20.7 0 - - 7 68.1 20.7
Ol2H}O|E | 19 37.6 0.8 3 40.3 2.0 22 38.0 1.0
AL O 6 62.2 33.7 0 - - 6 62.2 33.7
sHA 119 | 435 12.7 20 37.1 6.9 139 | 42.6 11.9
K010 9| o4 o 2
OEs 212l H| & Ol @l== H| & ol H|-&
o 21 & 17 11.7% 5 3.4% 22 15.2%
e 12 8.3% 3 2.1% 15 10.3%
O| Af 5 3.4% 0 0.0% 5 3.4%
8t R 23.4% 8 5.5% 42 29.0%
XA el == 145
TRAZILO] YRE OFE = Q== MZIsl0 HESSIAL- 1S E)0| 29|EHA|CH
= QUEMAHAE 28510, Y50 S AMMEE T 4 JYEE TACH
N it Qanst +5Hg S0 w2 Hax
M 2 UEOS LE Azt =24 Of o
gEd oAb | & Hg | &4 |22 | 25| &2
2013 A | g|ojMlo] 25 = | 3:10/304:07 | 1393 | 2097 | 66.4% | 0 |102| O | 17
2014 = | #ojMo] 26 4 | 3:30/365:01 | 1323 | 1961 | 67.5% | O | 101 | 2 17
2015 A | slo|Mo] 27 H | 4:03/446:30 | 1323 | 2002 | 66.1% | 0 | 113 | 2 17
2016 & | |oj40| 28 14 | 4:32/464:58 | 1635 | 2321 | 70.4% | O |124| 0 | 21
&lo|Alo] 29 H
4 4 |6:55/713:45 | 1145 | 2348 49% | 0 |130| O 21
52 | 6:44/635.83 | 202.0 | 2328 75% | 0 129 | O 20
6d
74
2017 4 g2
9 ¥
10 €
11 ¥
128




7
3 WOl J|EYNEE

247

5 47k0] M8 A
50 A

X1 0 MO|&4IEX &
%2 MEYUEE 50 MO| 4 DEXIQt FE
¥3 . HUAEXE - ASFEMNE A
AE == AEA} g9 GRS 2 Al
MEAM 1 0 1
3 HO|L Z7[EAE 0 1 1
35 MIOJEF 2 3 5
35 MO[& 2 1 3
50 AMlo]&t 2 0 2
2013 4 | gojHo| 25 | OFZHIO[EO[A HAF2x1 0 0 0
Q=5 HAEIX?2 1 1 2
2 8 6 14
O[&[X}- ¢ 3 HO[LY 6 3 9
O[&]X}-F Y 3 EHO[ & 4 0 4
A 10 3 13
MEYY 0 3 3
3 HO[Lf Z7[E X} 1 1 2
35 AOJEF 3 4 7
35 MO & 9 0 9
50 N[O[ & 1 1 2
2014 A | #ojxo] 26 | OfZHIO[EOJA FAF %1 2 il 3
La=E GNAX2 1 0 i
2 17 10 27
O[2]AF- &2 3 HO[LY] 6 0 6
O[&]A}-F & 3 Hol[& 5 0 5
EZl (51 0 11
=YY 1 1 2
3 HO[Lf Z[EXt 0 0 0
35 N[O]TF 7 2 9
35 N[O[&F 12 0 12
50 MJO[AF 1 0 1
2015 | ojMo] 27 |[OFEHO[EOA FARI%1 4 0 4
Ql==5 HAEX2 0 1 1
A 24 4 29
O[ & X}-F[ 2] 3 HOJLY 1 2 3
O[&X}- 3¢ 3 HO[H 2 0 2
A 3 2 5
AMEYHY 2 0 2
3 HOJLH 7[&% At 2 0 2
35 A[O[2F 10 2 12
35 AO[ & 8 2 10
50 Alo[ &) 3 0 3
2016 A | &lo|Mo| 28 | OFEHIO[EOA] FAFI %1 2 0 2
Q=5 FHAEx2 2 0 2
EE] 29 4 33
O 21A}- 2 3 HO[L 1 1 2
O[21At-H 2 3 HO[A 3 0 3
gt 4 1 5
MEAM 1 0 1
3 JOo[Lf Z[E AL 0 0 0
35 AN[O] 2k 2 0 2
35 N[O[ & 0 0 0
50 NO[&F 0 0 0
2017 4 | dlojHo| 29 | OFZHFO[EO[A HARx1 2 0 2
==5 FAEX2 0 0 0
A 5 0 5
O[&[X}-F ¢ 3 HO|L} 2 0 2
O &[At-F ¢ 3 HO[ 4 3 0 3
ELl 5 0 5




